WOODEN CAKE STANDS



Foldable Wooden Cake Stand

MRSP: \$60

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) \rightarrow \$1900 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents



Foldable Wooden Cake Stand

MRSP: \$60

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) \rightarrow \$1900 total

Details

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents



Foldable Wooden Cake Stand

MRSP: \$60

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- **Bulk Price:** \$19 each (Min. 100 units) → **\$1900 total**

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents



Foldable Wooden Cake Stand

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents

WOODEN CAKE STANDS



Foldable Wooden Cake Stand

MRSP: \$60

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) \rightarrow \$1900 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents



Foldable Wooden Cake Stand

MRSP: \$60

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- **Bulk Price:** \$19 each (Min. 100 units) → **\$1900 total**
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents



Foldable Wooden Cake Stand

MRSP: \$60

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) \rightarrow \$1900 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents



Foldable Wooden Cake Stand

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12(L)X6(H) Inches
- Design: Elegant cake stand with epoxy resin work
- Colors: Natural wood tones with resin accents

WOODEN STOOLS



Foldable Wooden Stool

MRSP: \$110

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) \rightarrow \$3000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- · Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Foldable Wooden Stool

MRSP: \$110

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) → \$3000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Foldable Wooden Stool

MRSP: \$110

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- **Bulk Price:** \$30 each (Min. 100 units) → **\$3000 total**

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Foldable Wooden Stool

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) → \$3000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents

WOODEN STOOLS



Foldable Wooden Stool

MRSP: \$110

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) → \$3000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Foldable Wooden Stool

MRSP: \$110

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) → \$3000 total Details:
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Foldable Wooden Stool

MRSP: \$110

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) \rightarrow \$3000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Foldable Wooden Stool

- Sample Price: \$45 each (Min. 10 units) → \$450 total
- Bulk Price: \$30 each (Min. 100 units) → \$3000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14(L)X20(H) Inches
- Design: Stool with epoxy work on table and legs
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$60

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- Bulk Price: \$18 each (Min. 100 units) → \$1800 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Fingerprint Embossed Blue Resin Work
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$60

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- **Bulk Price:** \$18 each (Min. 100 units) → **\$1800 total**

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Fingerprint Embossed Sea Green Resin Work
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$60

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- Bulk Price: \$18 each (Min. 100 units) → \$1800 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Fingerprint Embossed Silver Resin Work
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- Bulk Price: \$18 each (Min. 100 units) → \$1800 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Fingerprint Embossed Yellow Resin Work
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$50

- Sample Price: \$24 each (Min. 10 units) → \$240 total
- Bulk Price: \$15 each (Min. 100 units) → \$1500 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$50

- Sample Price: \$24 each (Min. 10 units) → \$240 total
- Bulk Price: \$15 each (Min. 100 units) \rightarrow \$1500 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$50

- Sample Price: \$24 each (Min. 10 units) → \$240 total
- Bulk Price: \$15 each (Min. 100 units) \rightarrow \$1500 total

Details

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

- Sample Price: \$24 each (Min. 10 units) → \$240 total
- Bulk Price: \$15 each (Min. 100 units) \rightarrow \$1500 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Deep Wooden Salad Bowl

MRSP: \$70

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) \rightarrow \$1900 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X4 Inches
- Design: Bowl with deep Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Deep Wooden Salad Bowl

MRSP: \$70

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- **Bulk Price:** \$19 each (Min. 100 units) → **\$1900 total**

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X4 Inches
- Design: Bowl with deep Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Deep Wooden Salad Bowl

MRSP: \$70

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X4 Inches
- Design: Bowl with deep Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Deep Wooden Salad Bowl

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X4 Inches
- Design: Bowl with deep Epoxy Resin Interior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl With Spoon & Fork

MRSP: \$70

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) \rightarrow \$1900 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Exterior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl With Spoon & Fork

MRSP: \$70

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total Details:
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Exterior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl With Spoon & Fork

MRSP: \$70

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Exterior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl With Spoon & Fork

- Sample Price: \$30 each (Min. 10 units) → \$300 total
- Bulk Price: \$19 each (Min. 100 units) → \$1900 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 10X3 Inches
- Design: Bowl with Epoxy Resin Exterior
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) \rightarrow \$1000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) \rightarrow \$1000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) \rightarrow \$1000 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

MRSP: \$40

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents



Wooden Salad Bowl

- Sample Price: \$15 each (Min. 10 units) → \$150 total
- Bulk Price: \$10 each (Min. 100 units) → \$1000 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 7X3 Inches
- Design: Bowl with Epoxy Resin Interior & Spoon Top
- Colors: Natural wood tones with resin accents

WOODEN PLATTERS



Chip 'n' Dip Wooden Platter

MRSP: \$80

- Sample Price: \$21 each (Min. 10 units) → \$210 total
- **Bulk Price:** \$13 each (Min. 100 units) → **\$1300 total**

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14X7 Inches
- Design: Platter with Epoxy Resin Plate & Bowl
- Colors: Natural wood tones with resin accents



Chip 'n' Dip Wooden Platter

MRSP: \$80

- Sample Price: \$21 each (Min. 10 units) → \$210 total
- Bulk Price: \$13 each (Min. 100 units) → \$1300 total Details:
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14X7 Inches
- Design: Platter with Epoxy Resin Plate & Bowl
- Colors: Natural wood tones with resin accents



Chip 'n' Dip Wooden Platter

MRSP: \$80

- Sample Price: \$21 each (Min. 10 units) → \$210 total
- Bulk Price: \$13 each (Min. 100 units) → \$1300 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14X7 Inches
- Design: Platter with Epoxy Resin Plate & Bowl
- Colors: Natural wood tones with resin accents



Chip 'n' Dip Wooden Platter

- Sample Price: \$21 each (Min. 10 units) → \$210 total
- Bulk Price: \$13 each (Min. 100 units) → \$1300 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14X7 Inches
- Design: Platter with Epoxy Resin Plate & Bowl
- Colors: Natural wood tones with resin accents

WOODEN PLATTERS



Chip 'n' Dip Wooden Platter

MRSP: \$80

- Sample Price: \$21 each (Min. 10 units) → \$210 total
- Bulk Price: \$13 each (Min. 100 units) → \$1300 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14X7 Inches
- Design: Platter with Epoxy Resin Plate & Bowl
- Colors: Natural wood tones with resin accents



Wooden Pizza Platter

MRSP: \$90

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- Bulk Price: \$18 each (Min. 100 units) → \$1800 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12 Inches Diameter
- Design: Pizza Platter
- Colors: Natural wood tones with resin accents



Chip 'n' Dip Wooden Platter

MRSP: \$80

- Sample Price: \$21 each (Min. 10 units) → \$210 total
- Bulk Price: \$13 each (Min. 100 units) → \$1300 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 14X7 Inches
- Design: Platter with Epoxy Resin Plate & Bowl
- Colors: Natural wood tones with resin accents



Wooden Pizza Platter

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- Bulk Price: \$18 each (Min. 100 units) → \$1800 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12 Inches Diameter
- Design: Pizza Platter
- Colors: Natural wood tones with resin accents

WOODEN PLATTERS



Wooden Pizza Platter

MRSP: \$90

- Sample Price: \$27 each (Min. 10 units) → \$270 total
- Bulk Price: \$18 each (Min. 100 units) → \$1800 total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 12 Inches Diameter
- Design: Pizza Platter
- Colors: Natural wood tones with resin accents



Apple Shaped Wooden Platter

MRSP: \$25

- Sample Price: \$12 each (Min. 10 units) → \$120 total
- Bulk Price: \$8 each (Min. 100 units) $\rightarrow \$800$ total

Details:

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 8X3 Inches
- Design: Apple-Shaped Platter
- Colors: Natural wood tones with resin accents



Apple Shaped Wooden Platter

MRSP: \$25

- Sample Price: \$12 each (Min. 10 units) → \$120 total
- Bulk Price: \$8 each (Min. 100 units) $\rightarrow \$800$ total

Details

- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 8X3 Inches
- Design: Apple-Shaped Platter
- Colors: Natural wood tones with resin accents



Apple Shaped Wooden Platter

- Sample Price: \$12 each (Min. 10 units) → \$120 total
- Bulk Price: \$8 each (Min. 100 units) → \$800 total
- Material: Mango Wood & Bondtite Epoxy Resin
- Size: 8X3 Inches
- Design: Apple-Shaped Platter
- Colors: Natural wood tones with resin accents